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for flat universe: DPM = rR0, DA = rR0/(1 + z), DL = rR0(1 + z)
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G = 6.67× 10−8 erg cmg−2 h = 6.63× 10−27 erg s c = 3.0× 1010 cm/s
k = 1.38× 10−16 erg/K = 8.62× 10−5 eV/K
σ = 5.67× 10−5 erg cm−2 K−4 a = 4σ/c = 7.6× 10−15 erg cm−3 K−4

mp = 1.67× 10−24 g me = 9.1× 10−28 g
e = 4.8× 10−10 statcoulombs 1 statcoulomb = 1 erg1/2 cm1/2

σT = 6.7× 10−25 cm2

CGS units: erg = g cm2 s−2 = dyne cm
1 pc = 3.086× 1018 cm
Sun:
M⊙ = 2.0× 1033 g R⊙ = 7.0× 1010 cm L⊙ = 3.8× 1033 erg/s
TE⊙ = 5800K ρ̄⊙ = 1.4 g cm−3 TC⊙ = 15× 106 K ρC⊙ = 150 g cm−3

Sun to Galactic center = 8.0 kpc v⊙ = 220 km/s
Radius of Milky Way = 50 kpc
H0 = 70 km/s/MPC
Age of universe = 13.8 Gyr
ρc = 9.2× 10−30 g cm−3

ρm,0c
2 = 2.5× 10−9 erg cm−3

urad,0 = 4.2× 10−13 erg cm−3

ΩΛ ≈ 0.7 Ωm,0 ≈ 0.3 ΩB,0 = 0.044± 0.004 Ωm +ΩΛ = 1.02± 0.02
TCMB = 2.725± 0.002 K
Lyman limit = 912 Å


